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The Chairman of, International Atomic Energy Agency (TAEA) is
(A) Hans Felix 3 Yukiya Amano

(C) Sterling Gole (D) Emely Crazon

IAEA &flén (International Atomic Energy Agency) spCGuramzil senaeui
(A) ammrenev Teddan B) whwur owrGenr

(C) evQ@Lielin Camed (D) enfiell ACysen

The article of constitution stressing on Equality before law is

A 19 . ‘m/m

© 21 D) 29

SULSHNE Pei SieTau(HLD 101D cTen) aflymissib Srflumeoli) FULD
@ 19 (B) 14

© 21 (D) 29

The Mission started by the Central Government to improve quality in higher education is

(A) NASA (B) HEA

W RUSA (D) MUDRA

o wirsdelulen STEmE 2 \iTHS WHHL SITFTe Qamisiu L Lewfl
(A) NASA (B) HEA

(C) RUSA (D) MUDRA
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4. Who made distinction between pure competition and perfect competition in economics?
N/ E.H. Chamberlin and F.H. Knight ~ (B) Malthus
(C) Marshall (D) Martin

Qurmemgsmsdléd  gniemwowrar CGumly wpmd sfurer CGumigulen Gumg eflsdunssens

TOUOSHweu wimi? .
(A) E.H. smbuiellen womd F.H. enpi (B) wrése
(C) (onirae (D)  wmi gen

5. MUDRA is an acronym for
Micro units development and refinance agency
(B)  Multi user Digital Ranking Assessment
(C)  Micro finance and union development reforming agency

(D)  Multi units development and regional Agency

MUDRA eflén eflfleunssid

(A)  Micro units development and refinance agency

(B)  Multi user Digital Rénking Assessment

(C)  Micro finance and union development reforming agency

(D)  Multi units development and regional Agency

6. The NITI Aayog Commission was created on '
(A)  March 15, 1950 (B) March 15, 2014
M January 1, 2015 (D) November 14, 2014

B8 Cuims yeemmuid Hpaui . et
(A) g 15,1950 (B) on& 15, 2014
©) geaeufl 1, 2015 (D)  maubuir14, 2014
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The first person to enter into space was

(A) Alan Shepard

\V Yuri Gagarin

(C) Edward H. White

(D) Valentina Tereshkova

Aar@euaiudd apsen wpseild) HIEPHS weflgi wri?

(A)  erem Galium_ (Alan Shepard)

B) wil Casflen (Yuri Gagarin)

(©) gielwiH. guic (Edward H. White)

(D) QeuQevarrgerrm QAL MevCasmeur (Valentina Tereshkova)

Who performed First Heart transplant in (1967)

(B) dJan Donald
(D) lan Donald

@sw wrpp sigeadldioms Qsisg apse wallgr wri (1967)

(A)  Ablavguwier uiremmit ()

(C) efévellwib sl

National Doctor’s day is celebrated on
(A) July 12t

(C) June 12th

Gadlw mbgieuTsa SHemd
A) g%« l2
(C) ggren 12

(B) gmen QLrremmen(H

D) Gumen QLrenmev (B

J July 1#

(D) dJune 1*

ey Qaram_m LuGADS
B) g9%wl
(D) ggrarl
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10.  Four identical copper cylinders are painted differently. If they are all heated to the same
temperature and left in vacuum, which will cool rapidly?

(A) Painted shiny white

Painted rough black
(C) Painted shiny black
(D)  Painted rough white

BreE @55 smily e mearser GeucuGeuny eflgions auiemrin LEOULREDg preng; BlrEE b eeus@nib
a@Cy Qaiuflowss GGLIDLILLH, GeupBlsHe PussLUGADE. @eupmyer s sMiTs G [Heneu
Gausions @eflmio

(A) Blenflgyiumen Qeuerener Himo LUl g
(B)  Qamy Qempliumen sBHLUY Bmbd yetiu' g
©) Befaiurer SWUL Blpb et L g

(D)  QsmpQemyiiuimer Qeusrenar Hlmb LEOUC L g

11.  Ohm's law does not apply to
(A) A.C. Circuits
Conductors

(B)
W Semiconductors

(D)  Conductors when there is a change in temperature

e &ilfl Qs @ Aurmpsng?
(A) AC. Wlemasm
B)  s_sHaer

©) Gops_shsar
D)  s_gHaafian Qeuiufleney wrmbCuirg

12 Who started “Bharatha Matha Association”
(A) _V.0. Chidambaram Pillai (B) Vanchinatha Aiyar
Neelakanda Brahmachari (D) Subramaniya Bharathiar

UMTS st spssas Asr_midwet wri?

A) as. Elgbumb Gerenar (B) aumgnél Brg smuiwsi
©) posar. Qroudsm (D)  stimwoenflw umgdlwim
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13.

14.

15.

16.

Which one of the following is not correctly matched?

(A)  British India society - William Adam

(B) East India Association - Dadabhai Naoroji

(C) ational India Association - Anand Mohan Bose
Indian Association . — Gopalakrishan Gokhale

Spsaramumasafd ag sfluns QurmssLILLelldma

A)  9OACge @pHur QeTens g - cllaflwibd sd

B) mevl @pHur SCardlGuisen - srgmumi QperGrmed

(C) Cpegered @pHun 2CeaurdlGusear - <penis Cuorsan Guren

D) @pdwen CandlGusen = Carunredmagar CanaGa

Rajaji started his Vedaranyam March from Tiruchi on

(A) 28 April 1930 - (B) 30t April 1930

(C)  13* March 1930 y 13t April 1930

gl seig GeusmyeRud wrsderenw HmeSuddlmbs! Qgm_mdluw preT

(A) 28 gugea 1930 (B) 30 guge 1930

(C) 13 wmiv& 1930 (D) 13 glge 1930

Who was the first Woman President of Indian National congress

(A) Sarojini Naidu . Annie Besant

(C) Vijayalakshmi Pandit (D) Suchita Kripalani

@pHu Caf smiyslar (s Quigitr eneveuiT Wrm?

A)  sCrrgdefl pruy® B) enaflCugam

(©) eﬁ'lgu.l@an'_&l.ﬂ LieiTig L (D) &sgsr é\@unmaﬂ

Who is the author of the book “Unhappy India”

(A) Bipin Chandrapal (B) Aurobindo Ghosh
Lalalajpati Rai (D) B.G. Tilak

“Unhappy India” — eremp mredlem < AR wirr?

(A)  GGen spdyumed (B) <=n95CsT Gamey

(C) arerogulym (D) uUTESR&TS]T SesiT
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17. In which year Andhra Pradesh high court was renamed as the Hyderabad high court?
(A) 2012 NB) 2013

T 2014 D) 2015

TbS <gpan (B bHom 2 windd \DETMLD amSFTLINS 2 wirhs) inenpid erenm QUi wrHmiL L g?
(A) 2012 (B) 2013
(C) 2014 (D) 2015

18.  The central bureau of investigation Academy is located at

(A)  New Delhi &7 Ghaziabad
(C) Mumbai (D) Hyderabad
WwiBL yeermiey Gpeflen LiGHa e erkiCs BieILofhgeeng)?
(A) Ligleedl (B) srélwrung

(C) ° qpbenvy D) eangymung

19.  The minimum strength of a State Legislative council is
10 (B) 50

(C) 60 (D) 70

wmhle #1106 Guoeeneauuler GOphsLLS 2 minderraeiar crameanidona
(A) 40 (B) 50
©) 60 (D) 70

20.  In which one of the following years, General elections to Lok Sabha was not held?
A) 1996 71997

(C) 1998 (D) 1999

Epssam_aupBle ebs <2446 LDESETEnEL] QurgIECaise FLss0iLLSldamean?

(A) 1996 (B) 1997
(C) 1998 (D) 1999
SIGS/18 8




21.

22.

23.

Symbiosis is an interaction between two species in which

Both live together in direct contact

(B) Both are benefitted

(C)  One benefits and other is neither benefited nor harmed

(D) One benefits and other is harmed

Elenawe, UTDEHME GopGamemenbd @ e (b 2 WiflamisEpsda G 2 arar 2 mefleé

A) @rendid Coygwns Qemabsl QUITLHLD

(B) @uews(Bid Lwen Gumd

(C) e uwanafl HQpreay 2 Fellub Qaiwng Eru@ib eflenerallang)

D) gy uwenref wp@prany Srisrans)

Which of the following is incorrectly matched?

(A) Turner's syndrome -
(B) Klinefelter's syndrome -

M Down’s syndrome -

(D) Super female -

Geraupeuenaupmer AUTGHSTHS STEHI7
(A) et @epun( -

B) deerar QoL Gopurl -

(C) Leyen @@pur®H -

D) LU Cdue -

Dodo is a animal.
(A) Endangered

(C) Rare

GLrCGLr e clemi.
A)  sfuyd flae 2 udifl

(C) =flw

44 autosome + XO

44 autosome + XXY
44 autoéome + XYY
44 autosome + XXX

44 zu@@@vnémn@&nm&dr + X0

44 2 L_ae@CyrGonGambser + XXY
44 2. 1_oECmGurCGambser + XYY
44 2 g CrmGunGsmbaer + XXX

(B) Critically endangered

\y Extinct

(B) scueneaslLomen <\fley Hleve 2 u4fl
D) =fibg Gumen
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24.  Nitrous acid, oxalic acid and acidified solution of FeSOy are examples for
Reducing agents (B) Oxidising agents

(C)  Additive agents (D) Both (A) and (B)

@BLI Sleid, 2y dsTells oSleoid whgib FeSOs siflos semrad <yfliueme THD (G FTMISET?
(A) gOsdser (B)  sailgCann s

(C) Gsmulser D) (A wpgbd (B) e @rer (b

25.  Blister copper is

‘ M 98% pure copper (B) 96% pure copper
(C)  90% pure copper (D)  92% pure copper
v Q@smiyer smiu ereng
(A)  98% gnw smiiui (B) 96% s s
(C) 90% S STLILT (D) 92% SNU &ToLT

26.  The Region specified by x>0, x+ y>0 includes

\/ 1* quadrant (B) 2nd quadrant

(C) 3" quadrant (D) 4% quadrant

20, x+y20 eremp uEh Thg s LGl 2 ereng

(A)  wse sroues (B) 25 srougd
C) 3y srouEd D) Ay sréugh
SIGS/18 10 O




27. Match the following :

(a) 1°+6°+8° L. 2—7%
(b) Value of 7 2 27
(c) 45% of 60 3. 7
(d) Radius of a circle 4. 729
whose circumference
is 44 cm
(a) (b) (c) (d)
% 4 1 2 3
®) 1 4 2 3
©) 4 2 3 1
») 3 1 4 2
QurmsHs :
(a) 1°+ 6° +8° i 272
(b) Valueof 7 2. 27
() 60—and5% 3. 7

(d) 44 Qs.5 sppeTaiemLI 4. 729
QuULL SSlem b

(a) (b) (c) (d)

(A) 4 1 2 3
By 1 4 2 3
(C) 4 2 3 1
D) 3 1 4 2
o 10 SIGS/18
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28. How many bricks will be required to construct a wall 8 m long, 6 m high and 22.5 em thick,

it being given that each brick measures 25 cm x 11.25 cm x 6 cm? '

6400 (B) 6300
(C) 6200 (D) 6500

@@ seuflen Banb 8 8, owpn 6 (8, suoan (swb) 22.5 Qs jaraysdr Qsremn_g. @ameuany
sLBausnE 25 Qas x 11.25 Qs x 6 Qal Sareyser daran. assemear Qsiisdsdr CoemeuuBdmsy?
(A) 6400 (B) 6300

(C) 6200 (D) 6500

29, A number is doubled and 9 is added. If the resultant is tribled, it becomes 75 what is that

number?
(A) 3.5 (B) 6
W 8 (D) None of these

R eremrenflen @) wLkiGLen 9 & Sl g aumd eflen apbiLisns LIHOUILLL T e efleo 75

araled BIBS GTERT Wig)?
(A) 35 B) 6
© 8 (D)  aseSoee

30.  Find the value of J6+ V6 +/6+--.

'\/‘3 o® 2
© 4

D) 1
JG +46 +4/6+-- en williewus srewrs
A 3 (B) 2
€ 4 D) 1
SIGS/18 12 o




3, If =12 * _b and L

iy =gy s o —c, where a,b,c are all non-zero numbers, then x equal to
= ® irerm |
O Grtem B e
xxgy =a; xfz =b wpmpb yfz =c whmh a,b,c Hwen LRWILHD GTaTET araled X —a iy
w 2ok By i

39.  The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other. Then
find the numbers

(A) 989, 1501 (B) 1011, 1479
(C) 1401, 1089 G’ 1411, 1079

@ aranseflar saBge 2490. @@ craimesfian 6.5%, wH@pr erameflén 8.5%HE swb aaflld Sibs

GTERT &GN T STt
(A) 989, 1501 (B) 1011, 1479
(C) 1401, 1089 (D) 1411, 1079

33. In atriangle ABC,|_§_= 90°, AB=18cm, BC =24 cm, calculate the length of AC .

(A) 20cm (B) 40cm

\M 30 cm (D) 35cm

A ABC-& | B =90° AB =18 Q&8 BC = 24 Q& erafied AC —ein fremid smear.

(A) 20 Q&b (B) 40 Q&b
(C) 30 Q&b D) 3505

o’ 13 SIGS/18
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34.  The least number of five digits which is exactly divisible by 12,15 and 18 is

(A) 10010 (B) 10015
(©) 10020 7" 10080
12, 15 wpmib 18- eugu@id \las8 Bl pbHoss erem wrg?
(A) 10010 + (B) 10015
(C) 10020 (D) 10080

35.  LCM of two prime numbers x and Y (x>y) is 161. Then the value of 3y—-x is

" ®B) -1

© 1 D) 2

*opmw y (@G x> y) aem @m ust erarsaiian 8.QuT.o 161 ereflér 3y — x e iy GTeTLIg)
4) -2 B -1

€ 1 D) 2

36. If 21 cows eat that much as 15 buffaloes, how many cows will eat that much as 35 baffaloes?

49 (B) 56
© 45 D) 42
21 ussser, 15 Grhegen arey stUdPAemen. ereafld THESMN LGSSET, 35 CT(HEMDEET 2jeTay
sl Hb?
(A) 49 (B) 56

© 45 (D) 42

37.  If 6 men working 8 hours per day and earn Rs. 8,400 per week, then 9 men working 6 hours
per day will earn per week :

(A) Rs. 8,400 \.ﬂ( Rs. 9,450

(C) Rs. 16,200 (D) Rs. 16,800

6 Guir, @@ prenars@ 8 wenfl Corb Ceuenar Gsiigy, RO ungsdlne m 8,400 swurdafament. arafi
9 Guir, g preverig 6 wenf Cpirib Geuener Q&g e UTTESNE ereuuaray sLITSILMT?

(A)  em. 8,400 (B) e 9,450
(C)  @m.16,200 (D) @ 16,800
SIGS/18 14 e




38

Match:

(a) Sathya Sodhak Samaj

(b) Jeeva Karunyam

(¢) Dharma Paribalanam

(d) Stormy Hindu

(a) (b) (c)

© 4 1 2
D) 1 3 2
Qurmsss :

(a) ssw Gargs sLTRYD
(b) gBeu smmeRTUD

(¢) s uflureand

(d) @bs Yo

(a) (b) (c)
(A) 2 1 4
B) 2 4 3
(C) 4 1 2

D) 1 3 2

=

%

(d)

(d)

Ramalinga Adigal
Jyotiba Phule
Swami Vivekananda

Sri Narayana Guru

Qymoaitis Sigs6r
Cgréur e
seumdl eflCeusrenbs

Wi HrymLET(E

15
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39. The Vijayanagar empire was divided into how many provinces?
(A)  Fifteen provinces (B) Fifteen districts

w Six provinces (D) Forty five Talugas

silgupsi CLyTs assmen wrsTamiisaTTsS AfSSIUC I mHSS?
(A)  udlewanssy wrsremiseT (B)  ufleemig wreul L kisar

O < wrsreriisen D)  prousesbe sraEsTEsdT

40. Airavateswara Temple of Darasuram was built by the Chola ruler

(A) Rajarajal (B) Rajendral

W Rajaraja I1 (D) Kulothunga 1

snETSEled Semhgiter mrmeuScsaint Cancilara &g Gamy wememen

-~

(A apsend prgrmgen (B)  wpsomdb mCgyidyen

©) @reawrmb TTERTEg et (D)  wpsemd @Carsgis Gampen
41. Coniferous trees are found mostly in

(A)  Deccan Plateau Eastern Coast

(C)  Western Coast deddle Himalaya

sarflllenavs snpaar STELILIL &8nig w1 @)hEwirelen UGS ergy?

(A) sésnenr Sl x (B) dlpée sL_paey
(C) Cung s_psemiy (D) wsHu @wwioene
SIGS/18 16




42. Match the following :

Vegetation type Average Annual rainfall (mm)
(a) Evergreen forest ) 7 50-100
(b) Monsoon forest 2. Below 50
(¢) Dry forest 3.  Above 200
(d) Desert forest 4. 100-200
(a) (b) (c) (d)
A 1 3 4 2
B) 2 3 1 4
© 3 4 2 1
j 3 4 1 2
Epsam_cupenp QUI[HESEIS
ST QUME ar;r;alﬂ QU(HL LDEnpUIETaY (mm)

(a) w&eL LIPS ST[H&ET 1. 50-100

(b) umeauasThm STHSET 2.  Below 50
(c) eupawL sm(HaEeT 3. Above 200
(d) ureeue sTH&ET 4. 100-200
(a) (b) (c) (d)
A 1 3 4 2
(B) 2 3 1 4
) 3 4 2 1
D 3 4 1 2
o S g SIGS/18
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43.  Trace elements required for plant growth
(A) N,P.K (B) Ca, Mg, Fe
\J#”* Mn, Zn, Cu D) C H 0
grauy euetiééléE Caameu b Fidmann L& E55|GEET
(A) N,PK (B) Ca, Mg, Fe
(C) Mn, Zn, Cu (D) CHO

44.  The principal genetic material of living beings

(A) DNA (B) RNA
S Both'A’ and B (D) Nucleolus
e uWilmerereupiiled smemriiLi@ib s WLl Qurmer
(A) g.eeng (B) syirerang
©) ‘A wppw ‘B (D) FysefiCuiraen

45.  The Chief component of fungal cell wall is

(A)  Mucopeptide (B) Cellulose
y Mucopolysaccharide D) «-D glucopyranose
yehenasatier Qae seuflar apadlw 2 L Qurpermeng
(A) Bl CarQuiien @ (B) Qaeg)Cevrmeiv
©) BuCsrundsréssann D) sy -4 EsCareLiCrCanmen

46.  Which one of the following is not a feature of Indian Economy?

(A)  Heavy population pressure (B) Predominance of Agriculture
(C)  High density of population \V Absence of poverty
Epaumearaupmer erg) @bAWIL Qummerngmyglen Guwicor DDOTHH ?
(A)  wéser Agrens QupEsibd (B)  Caermeaimenin GoCGanriid Hlpmed
©)  sifswran wisea Agrens SIS D) apewdaemno
SIGS/18 18 Q




47. Liberalisation of economy refers to

(A) A regime in which many standard traditional public finance are abandoned
x Policy whereby different controls and restrictions are to be removed in Industry

(C) Take over of a relatively weaker firm by a stronger firm

(D)  Policy where by domestic producers protected from foreign competition by rising tariff
walls

QuINHETTSTT STTETOWILOTESE ETETLIS)

(A) .uggmu)u_mm Quirg B srihs sHHEIEsmar msaBHeugl

(B) Qsmflesafle !'J_G'TGT ueGaug s_HUTHSET HIID SeL_SHenaT ﬁé;@eﬁcin;p Qarerens

(©) pdleueL s Hlevauione Hlpeuambsmer, augieurer Hpeuerisdr QurmbHadararared

D) Qeuefipri(® Gumigenar Sesaufl@and sH5H o6 BIH p_g)ugsﬁu.nrmn&@a;@
ungsmiLet B

48. Consider the following statements and choose the correct code given below

Statement I : Whole sale price Index is constructed and released by central statistical
‘ organisations

Statement I1 : Consumer price Indexes are prepared and released by the office of economic
advisor Ministry of Finance.

(A) Onlylis correct \/ Only 11 is correct

(C) I andII both are correct (D) Neither I nor Il is correct

Spaer_ sapmibE sfurer GHlui oL srems.

mppl: Quss epumen alow GO QL a@menam SieUILIGID HHID QeuaflldHeugid wHEW
Lyerafluflich yemoriy

smpm I11:  maiGeurt allene @HluiL QLamenant gwimt Qalisa@id LOHID QeuefullBeugib QurHeTTSITY

o Cangst Bl sgaush
A)  spm I G & (B) sapm I wi @b &fl
(C) sapm I, b &f (Grewr(id) D) sapm I wpmd IT sflwee
o 19 SIGS/18
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49.  Prime Minister Shri Narendira Modi flags off ‘Run for unity’ to mark the birth anniversary
of

(A) Mahatma Gandhi

(B)  Netaji Subhash Chandra Bose
W Sardar Vallabhai Patel

(D)  Acharya Vinoba Bhave

Gygwoi pCrmdly Guomg ‘ehpLEsTET QUL Smg' Qamy. imsss) e Yphs
prevarQum’ . gieusdl eneugsi ]

(A)  waprgor smhdl
(B)  Gusrg sunesy si8y Gumey
(C)  sigmi eudvaumis LG e

D)  eyssriu eflCamur urCeu

50.  Which Country won the maximum medals at the 18 Asian Games 2018?

\@” China (B) South Korea
kC) Japan (D) Indonesia

18-eug) o dlwi eflenemum’ @ Cum_igser 2018-6 e B siflau s ugsstisamers @e558?
(A)  ewaenr (B) sayp Qamlwr
©)  gouren D) @BCsrCendlum

51.  Narasimha Commission’s report is about

(A)  Reforms in Insurance Industry d Reforms in Bankin_g Industry
(C)  Reforms in Tax (D) Reforms in Agriculture

Brélbwen Gy sifléma eTeng Ll Lipliig)?

(A)  sruSL @S greopufe Erdmssin B)  andsgyopda Erdlmssb
©)  afgpepuda & dmEsn (D)  efleusmuggen &idmssio
SIGS/18 20 O




52. The 4t» BIMSTEC — Summit — 2017 was held in
(A) Bhutan Nepal

(C) Bangaladesh (D) Pakistan

4-qug) BIMSTEC- 2017 2 &élonpn(® era@ penQuihmg?

(A) yimen (B) Cpumembd

(C) unisamGgeip D) urdlevgmen

53.  Global Entrepreneurship summit — 2017 held in

(A) Bengaluru (B) Cochin

\/ Hyderabad (D) Chennai

2017-1b pamg paren 2 sameiu Agmfle wpeaaGarmaaTen 2 58 rpr® pe-Qubp @L b
(A) Qumsenm (B) GQar&sl

(C) eansyTuNs (D) Qeeenen

54. Price rigidity theory was developed by whom?

QF Paul Sweezy (B) Paul Ram

(C) John Paul (D) Paul Sanjay

aflena eflenmliLgAmen Cam_un@® wrymed e heursslur L gi?
(A)  ume eveld (B) wumé gmb

(C)  gmren U@ | (D)  uné sEges

o} - 21 SIGS/18
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5b5. India Launches its first national healthcare facility registry called
(A)  Ayushman Bharat Scheme (ABS)
(B) _ Central Bureau of Health Intelligence (CBHI)
National Health Resource Repository (NHRR)
(D)  Dhanvantari Medical Scheme (DMS)

QpFur Agm_rdlu opse Coélw sarsny Caemas LS, et M) Sjenp&aiLHE g
(A)  Ayushman Bharat Scheme (ABS)

(B) Central Bureau of Health Intelligence (CBHI)

(C)  National Health Resource Repository (NHRR)

(D)  Dhanvantari Medical Scheme (DMS)

H6. Vansda National Park is located in

(A) Assam g (B) Uttar Pradesh
Gujarat (D) Bihar

auenevLir Gu&lw Lymist & 2_eeng)

(A)  yevenmb B) o 58y WCssid

©) ©gms (D) Sani

57.  The study of the presence, distribution and prevention of disease in populations is called as

"(A)  Ecology (B) Encyclopedia
\y Epidemiology (D) Environment
wser wsHlld Cpmuser @muug, «HGwrsD ppd sEOY upHlu eyiey ubBl LgLLg
e m e pédlenGombd
A  @pdua (B) sowssemgswin
©) Crmufwe (D) spméEwe

58.  What was the GDP growth target fixed for Tenth Five Year plan?
A 7.5% : (B) 5.6%

7 8% (D)  8.3%

ussTeus phsrar® HLsHer Qumgs Cslw 2 pusdl (GDP) aueriéfl @eéars  iemwuib
Qaiwiul L sgeisib eremen?

(A  7.5% B) 5.6%
(C)' 8% (D) 8.3% ‘
SIGS/18 22 o]




59.  Which IT company has announced a strategic partnership with Flip kart

(A) Google (B) Apple
(© IBM P’ Microsoft

aps QueanQumrmer Bpeuend Gellismil  HpeuabgiLen URIEGSTTT yfibgieriay @UUBSD

QeligeTansns ibleflEsULCL g7
(A)  sa@er (B) =pnler

(C) @Yerid (D) apmé;(%mrgnut'_

60. Raman effect is due to

(A) Incoherent Scattering s/ Coherent Scattering

(C) No Scattering (D) Refraction
@nmoen afleneray ergeanTed o L TADSI?
A  efllue soars Szmed B) egflue dspe

(C) dape Qo (D) gefcllasd

61. Hydraulic lift, hydraulic press and hydraulic break work on
Newton's law (B) Archimede’s law
M Pascal’s law (D) Bernoulli’s law

@anl_yredlés gnsd, eanlredld Siapssl wHHID @apl_grells se Guremn @ubSrEsdr b

eflfuferuig. QewouBEng
) A)  Hlyeaneid (B) <yiésSibligen IS
(©) umevae Al (D) Quirenmel el
o _ 23 SIGS/18
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62, Match List I with List II and select the correct answer given below:

(a)
(b)
(c)
(d)

(A)
(B)

List I

Abhinava Bharat

Ghadar party

Hindustan Republjcavn Association

Indian Independence League

(a) (b) () (d)

(V]
o
0o
—_

M 4 1 2

(D)

3 2 1 4

List II
1924
1942
1907

1913

uCiguwie I g uligwe IT 2 dr @il () sflwrer eflenanws CambOsHEseyid

(a)
(b)
()

(d)

(A)
(B)
(©)
D)

SIGS/18

uCiguwied [
29 Bl urgs

a5 &4

aflbgievgren Auuiafisean 21 CanfiCwiagen

Bibflwsen @)ebmig QuiaT_etran 655

(@  (b) (c) ()

2 1 1 3
3 4 2 1
3 4 1 2
3 2 1 4

24
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63.

64.

65.

66.

Part IX of the Indian constitution deals with

(A) Municipality J Panchayats
(C) Central Government (D) State Government

@i sirflueamwiiear gaugraig LGS asmean LpH sandng?
A) peym_fser B) uepFmusgHIGET

(C) wsHu FsTRSD (D) mnﬁw}yu&m&xam

Which one of the following states was not came in to being in the year 1987?
(A) Mizoram (B) Arunachal Pradesh
© Goa 7 Sikkim

Sipsam_ wrHlonsaia erg 1987-b eyan® ydw wrhlowrs siflellésiuafdma
(A) OGsmmb (B) <marmse rGsen
(C) Careur (D) #sdld

Which Article of the Indian Constitution dealy. Fundamental Duties?

(A) 50A 51A
(C) b52A (D) 53A
SiguueLé smwsamers upbl samib @b sirflueanliy el erg?
(A) bH0A (B) 51A
(C) b52A (D) 53A

The whips in the Indian Parliament are appointed on the basis of
(A) Parliament Statute
(B) Rules of House

Based on the conventions of Parliamentary Government
(D)  Rules of the party

@pdu umymEpwearmsHa Qarnrssar Bluwend Gauiuliu@id SjgliLemL
(A)  umymepem &L efFug

(B) senuullen efldliLig

(C)  umym@penn ysrRssSHen L saflear BigUumLuld

(D) s Auflen elfiug

25 SIGS/18
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67.

Who among the following was NOT a 'part of the Group of Interlocutors for Jammu &
Kashmir appointed by Central Government in October, 20107

(A)  Dileep Padgaonkar \M P. Mishra
(C) Radha Kumar (D) M.M. Ansari

Epssam_euis@ner &GLmLr, 20108 widu s Fullss goe srapdi wrble eeusmhser
Qgriruner Cuisaunisamgsaner et @pedlen Smsw0wTE Gaoengau wmi?

(A)  Feu uCamenai (B) P. Segym

(C) gngm @i (D) M.M. sjensnfl

68.  District Rural Development Agency was setup in the year
(A) 1970 (B) 1975
& 1980 D) 1985
reul_L oays euenias apaeo Compmedldasiiu L e[
(A) 1970 B) 1975
(C) 1980 (D) 1985
69. The constitutional provisions regarding disqualification on Grounds of Defection is in
(A) 5 Schedule (B) 6t Schedule
(C) 9% Schedule G 10 Schedule
s A5 greurd ghudb sEHulpiysamen upHlu srflueawiy Sibsmsea @b updlmoug
(A) mHsTaUF S LcuenemT (B) sypreug i cuenent
(C) eeaugreug Il cusnemt D) ussreug) = L_cuenemr
70.  Articlg 368 of the Indian Constitution provides for —————— types of amendments.
2 (B) 3
© 4 D) 5
@pHu sirHueamniifen aflf 368 ———————— aumaswner s Smssrsaman updl sapieusTELD.
A 2 B) 3
© 4 D) 5
SIGS/18 - 26 L3



The male honeybee has ———— set of chromosome.

(A) Diploid M{aploid

(C) Tetraploid (D) Polyploid

e Coaises ————— @GrmGnGsmbsdr @ésst AU HmaEAns.
(A)  goemi@ (B) Gaplermi®

©)  Quigriemi D) urhermis®

Which of the following could act as a propellant for rockets?
(A) Liquid hydrogen + Liquid nitrogen
(B) Liquid oxygen + Liquid argon

M Liquid hydrogen + Liquid oxygen
(D)  Liquid nitrogen + Liquid oxygen

m&Gs. Quisdlsemmals L Heug) eg?
(&) freu wanljggen + Slyeu eopLygmen
(B)  dlrew saflmen + Slyeu syismen
©) fre ewan ygen + Hyeu ybfgen
D)  dyeu enpliggen + Hyeu pédlmen

Which of the following is not a Lewis acid?
(A) BF3 (B) AlCls

(C) BeCl: Msamz

Gemeumeuenaunmyer e7g) epnuilen syfleb siwe?
(A) BFs (B) AICls
(C)  BeCl: (D) BaClz

27
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4. If %:% and 8a+5b=22, then the value of a is
- \ﬁ( 2
4) 4 2
5] 7
] o, D) 4
©) = (D) 5

%:-i— whpib 8a+5b=22 aaflér a — en wH srers

®)

<o e |

(D)

|~ ol

75.  Two series are given below with specific pattern

7 |24 |10 | 33 | 145 46.5

11 |@ | ® @] @] (e
What will come in the place of (c)

1
W 51 ®) 237
1

(C) 195 (D) 16

£CQy Qan@ésuu’ L, GALALL 2 sHaenLen smiguw @)@ Aarirsafle (¢) — & iy snaws

, 7 |24|10]33)|145]| 465
11 [@|®|[@][ @ | (€

@ 51 - B) 23%
© 195 D) 16
76.  There are 600 students in a school. Each offered either English or Hindi or both. If 75%
offered English and 45% offered Hindi, how many offered both?
(A 48 (B) 60
© 80 G 120
@m uarafluflé® o drer 600 wrewrauisERsEE geaubanmaumaghd ymdon oog @S ooz
@remBo wlppeilsstuGipg. 75% madaon wpmb 45% @id v@ppelssiuBdpg i
@rerr(Bb LuSgud wreTauaeT erdgeman CLT?
(A) 48 (B) 60
(C) 80 (D) 120
SIGS/18 28




77.

78.

79.

Insert the missing number

7,26, 63, 124, 215, 342, —————— -

(A) 481 J‘ill

(© 391 (D) 421
Gar@asiu_L Gsm_feo, UL L craramears Srawrs

7, 26, 63, 124, 215, 342,

(A) 481 (B) 511

(©) 391 (D) 421
Ifa:b=3:2, b:c=3:4, c:d=2:3 find a:b:c:d

(A) 3:2:4:8 (B) 9:6:8:6
N 4 9:6:8:12 (D) 3:6:8:12
a:b=3:2, b:c=3:4, c:d=2:3 eafl® a:b:c:d ganam
(A) 3:2:4:3 . (B) 9:6:8:6
© 9:6:8:12 (D) 3:6:8:12

How many combinations of two-digit numbers having 8 can be made from the following

numbers?
8.5, 2,1.9.6
(A 9 (B) 10

M 11 | D) 12

8 g @ cramans Ganear ereer Crrysafler sranaflsms arismen?

8,521,176
Aa 9 (B) 10
(© 11 D) 12

29
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80. A pole 50 m high stands on a building 250 m high to arm observer at a height of 300 m, the
building and the pole subtend equal angles. The distance of the observer from the top of the

pole is
(A) 25m (B) 50m
© 25V3 m ' G 256 m

@@ sbubd 50 Bloi e wpsdled 250 Bloi e wpaperer @ sligL Sé Cue o ararg. 300 Sl
2 wysdle 2 arer p wallsEsE Hs SbUAD, sl b @Gy Cri Caransde Qmedpg. Hs
waflgen ereucuatey s Sibs sbuglen 2 sflenw urTlLTen

(A) 25 8L (B) 508
(©) 2543 Brii (D) 256 B

81. The radius of a circle is increased by 1% what is the increase percentage in its area?
(A) 1% B) 1.1%

© 2% G 2.01%

el s8len b 1% o wmApg Sieueul L sHar o wirbgieter Urlieu 556555860 sap?

(A) 1% B) 1.1%
©C) 2% (D) 2.01%

82. If 15% of 40 is greater than 25% of a number by 2. Then find the number

@ 12 M 16

© 24 (D) 32

40-em 15%. g eramenflen 25% g el 2 siflawons o creng) erafle) ibs eTeRTenemIS SmesT
A 12 (B) 16
© 24 (D) 32
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83.

84.

85.

4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can complete
it in 10 days. In how many days will 10 women complete it.

@A) 35 G 40

(C) 45 (D) 50

@ Caumaaw 4 amsEnb, 6 QuearseEnb Csrsg 8 priser Qewdpriger, Gogib 2G5 Caumaamws
3 yamaEnbd, 7 QuerseEnn Gaibg 10 priser Qewdlpriser. 10 Quarast WL B0 2iHs Couameaanws
ergemen Briseafle Aalig apyliuniser

A 35 (B) 40

© 45 D) 50

Find the value : [E+ 8

5-3
(A) 3+[15 \/4+ﬁ5
© 2+[12 @ 4+[12
m@ﬁq&ns&n:{%’%
(&) 3+[15  @B) 4+[15
© 2+[12 D 4+]12

Three numbers are in the Ratio 1:2:3 and their H.C.F is 12. Find the numbers.
(A) 4,8, 12 (B) 5,10, 15
(C) 10, 20, 30 12, 24, 36

apenm eramsar 1:2:3 ereamp efldlgsld samwpgierarar. seupdler 5.Aur.eu 12 arafld Sips ramsmand
SRS,

(A) 4,812 (B) 5, 10,15

(C) 10, 20, 30 (D) 12, 24, 36
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86.

A cubical tank can hold 27,000 litres of water. Find the dimension of its side (in metres)

(A) 27Tm B) 9m

3m (D) 6m
N &

R0 sad sg7 e Bty Asm_iguller Qararararey 27,000 lLit erafld iFem LGS SieTenaud ST
(B M)

(A) 278 B) 9.8

(C) 34 (D) 6.8

87.  Mahavira preached his philosophy in which language?
(A) Magadhi \#” Ardha Magadhi
(C) Suraéeni ‘ (D) Apabhramsa
WDETESIT HEUHEL L SHSIQUEISEMET arbg Gumfluiie Curdssmi?
(A)  wsd (B) =g wad
(C) spnQeenaf (D) eururbeor
88. Who was the founder of Nalanda University?
(A) Samudra gupta (B) Chandra gupta II
M Kumara gupta (D) Skanda gupta
BIETHET LSmaEspadms Hlmellwieurr wiri?
(A)  spssly GLST B) @uewm_mb spdyELsi
(©) o EusT (D) avaps GLsT
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89.

90.

91.

Name the founder of “Young Bengal Movement'.

(A) Swami Vivekananda \M Henry Vivian Derozio

(C) A.O. Hume (D) Anne Bessent

‘@emb QuiisTed Quisssms Hlmyefweur wimi?
A) seumd dlCausranbsi (B) Qamenl eflefwen q.Cymaglwim

(C) A.O. afywo D) syeafl Quene

In which year the battle of Wandiwash took place?

(A) 1757 (B) 1759

y 1760 (D) 1763

aupgeurdl Gumt peaLGupn e arg)?
(A) 1757 (B) 1759 1|

(C) 1760 (D) 1763

‘Vernacular Press Act of 1878’ was passed by
(A) Lord Ripon ] (B) Lord Duffrin
\(y Lord Lytton (D) Lord Canning
smiQumf usdNamas s L_sms, 1878 —b e[ Garem(® aups seurrer Ggenye wmi?
(A)  MAduer Gy (B) Lofer Sy
(C) &Nl em Gy (D) srafli D5y
33
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92.

93.

94.

In the Indian peninsular what type of forest are found

(A) Coniferous forest (B) Tropical forest

W Monsoon forest (D) Sub-tropical forest

Suspu @pHureled sramiiu_ssmg ) srHsaler cums wing)?
(A) caflleoas st@sdr (B) sywer wewr_e sr@aser

O  umaussTHy wes sTHaEET (D) 2uwenserr o srHs6T

Which one of the following is not a tiger reserve?
\J# Bhagwan Mahavir (B) Gir
(C) Indravathi (D) Ranthambore
Epsam_cubmier erg) LellaeT spemmTewb Sentwimg?
(A)  umeuen wamed (B) 4
©) @pdrraud (D)  paemyi

Which one of the following National parks is not correctly matched?

(A) Balpakhran — Meghalaya \M Panna — Bihar
(C) Molem — Goa (D) Van Vihar — Madhya Pradesh

Spsam_aupmer seuprs QurmssLLCGerar Cadlw Lyhs eT&I?
(A)  ure usyen— CusTawm (B) wenesrm — Sami

(C) Gurgyb - Gsmeur (D)  euen eflan— wsHw ArGCsan .
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95. Match the following :

National parks States
(a) Anshi 1. Rajasthan
(b) Bandipur 2. Karnataka
(¢) Desert park 3. Tamilnadu
(d) Guindy - 4. Karnataka

(a) (b) (c) (d)

® 1 2 3 4
(C) 3 1 2 4
D) 1 3 2 1
Epsan_sunenn QUTmEHIS

Cadlu yram wmbleiser
(a) oemafl 1. grgevgren
(b) wBHOYT 2. sipTLsT
() ureneeuan YrisT 3. sbpEr®H
(d) Hewng 4, STHTL&ST

(a) (b) (©) (d)

(A) 2 4 1 3
B 1 2 3 4
(C) 3 1 2 4
D) 1 3 2 4
o) 35 SIGS/18
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96.  Assertion (A) : Industrial policy of 1991 initiated the piocess of liberalisation of Indian
economy.

Reason (R) : Indian economy was integrated with the world economy in 1995

% (A) and (R) are correct, R is the correct reason for A

(B)  (A) and (R) are incorrect but R is not the correct reason for A
(C)  (A) is correct but (R) is incorrect

(D)  (A) is incorrect but (R) is correct :

sapm (A) ;19910 ge(® AsmflpQsrearens @nHw Aur@emrgnyd gryreriowisraiens Qsm_rid
PUSEHI|

smpamb(R) : 1995  geged @pAul  QurmesTd 2 Ws QuirgreTTSTISHEL et

R(radaeansaiu L g

(A) (A wpmd (R) s, (R) cranugl (A)sasnen sflwren smyewmbd
(B)  (A) wpmb (R) &f. gpeme (R) GTEHTLIS) (A)ésarrgn SHWITET STTERTLD B{e06
© (&) ofl gyema (R) saup

D)  (A) geupy syenned (R) &

97.  The high yielding variety of wheat used in Green revolution was developed in

Germany (B) Netherland

(A)
\M Mexico (D) Brazil

ugemoL Ly Sulle) weruBssOuEh Canglewulen efflw eflengenws o peurddiu B
(A) Qmmoef (B) Gpsirensm

(C) QuaedGar (D) GCrée
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98.

99.

100.

When was the Congress Government passed the 73" Amendment for ‘Panchayat Raj?
December 22, 1992

(B) December 23, 1992

(C) December 24, 1992

(D) December 25, 1992

uEreTwEs rRusSdars 737 srduemoiys Smsssms srudyey SperEsd auEduns
BlenmCGeuprhluwig?

(A) 1992, yswuir 22

(B) 1992, gmbui 23

(C) 1992, gsibuit 24

(D) 1992, gawui 25

Which one of the following is not a function of the Reserve Bank of India?

(A) Banker to Government (B) Custodian of Foreign Exchange
(C) Banker's Bank \y Advances loan to the people

Genaumesaraupmer arg @pdw Mareu euridluflen Qewmun® Siwvw?
A) erdpsren cukid (B) <pHwus Qeoanestudien LING) STauaen
(C) aumdsaflen aurudl (D) Qurg ESHEHEHS HL6 QULPRIGSD

India’s food grains production in 2014-15 was
(A)  90.5 million tonnes 252.7 million tonnes
(C)  280.5 million tonnes (D) 296.4 million tonnes

2014-151b yamq s @pHurelen o ey sraflu o HLsHuden 2ieme,
(A) ~ 90.5 Wievedlwien Lemaar (B) 252.7 Beedlwer Lenger
(C)  280.5 flévallwsen Lemser (D) 296.4 WeeSlwen Lenser
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